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Name: e Class:

hl) Solve the following quadratic equation.
UV @+ 7)5x-4)=0
120\ BX-H=0
4 =77 QX':' Y
x=7p R4l

-2.) Solve the following quadratic equation using the quadratic formula. Express the answer in

‘simplest radical form. / Xz ~(o + \J(oaf '-1‘(3\)(-3) ‘= w@,iﬁb'ﬁ
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3.) Find a quadratic equation, using the variable , that has a solution of {5,-4}
(x-5Yr#D=0
£ *r"TX 5x-20=0
[ -%-20=0)
4.} Solve for x.
CF 2 g d) = (o x-2) |
il 3 B+l = QR -HxH+X =L 0= 3(x- NeEL ‘5
Mtlo= IX=3X~Z R
34,71

0= 2 ~loX ~ Sg
O= a(r*- 3X~4
5.) Complete the square: x? + %X

“H — = m ——
(’:’Z - [ ‘é) ; bH (
6.) Solve for all values of x by factoring.
5x*=12x
WAZ%=0
X(5%~2) =0

(" =61 5%12=0
* 6;\—:«\’2—

K=12fL




7.) Solve for all values of x by completing the square. Express the answer in simplest radical
form.
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U 4 X =5k
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8.) Solve the following quadratic equation using all three methods.
3x2-2x-1=0
Factoring Completing the Square Quadratic Formula
2
2 _ BA=24-1=0
Bx 2x = *

NETER PR D0
2 i \ 7 2 ﬂi(%
(B, )

A

QoA \ \ 9 Xz Qi])L‘H'iL )
X - ZX+ (A3 &
A R
AT 379 3
O
=X
RN 2ie-| E 5F
O
9.) Find three positive consecutive

v O[d integers such that the sum of their squares is 3;]%“ \,‘3} \
: ? | .- = 2 -7 2 y

ot | it =x | 2 (D (k) 2 371

loX nd e = X+ 2!
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